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NO.109 Which of the following has the highest requirement for the network bandwidth in B &#8211; Scan?
* Ultrasonic imaging

* Operation controlc.

* Real-time call

* Communication between doctors and patients

NO.110 In the 5G era, services will shioft from 2C to emerging vertical industries, including 2B2C, @B, 2H. ..TF
* True
* False

NO.111 What isIMT&#8217;s vision for 5G peak rates? (single-choice question, 2 points)
* 100Mbps

* 1Gbps

* 10Gbps

| Pagel1/3 |


https://blog.examslabs.com/?p=250
https://blog.examslabs.com/?p=250

This page was exported from - Exams L abs Braindumps
Export date: Sat Nov 23 13:38:47 2024 / +0000 GMT

* 100Gbps

NO.112 which of the following chips is the world& #8217;s first commercia single -chip multi-mode (29/3g/4g/5g)5g modem? _SC
* Balog 5000

* BX50/X55

* CXMM-8160

* Exynos 5510

NO.113 Which of the following descriptions about 5G NSA networking is correct?

* Option 3 isrecommended for Option 3/3a/3x networking because it does not need to transform the existing L TE network

* QOption 3, 7, and 4 have different anchor points on the signaling plane. Theradioisin LTE, eLTE, and NR, respectively; the core
network isin EPC+, EPC+, and 5GC.

* Optiond networking, suitable for theinitial stage of network construction, LTE coverage isrelatively weak.

* Option3al7aare both EPC offloading. The advantage is that they can be offloaded for different services, but the disadvantage is
that EPC cannot be offloaded according to the wireless link status.

NO.114 Cloud-based wirel ess networks can greatly increase user rates. (True or False, 4 points)
* True
* False

NO.115 In which of the following scenarios, the propagation performance of millimeter wave and decimeter wave is the closest?
(single-choice question, 4 points)

* Thesignal penetrates the outer wall

* Signal Diffraction

* Signal Diffraction

* Direct signal

NO.116 Which of the following are points of electronic power telecommunication?
* public network GPRS with low rate and long delay unable to

provision telecontrol, tele indication and telemetering, slow fault locating

* high cost for monitoring service carried by operator 4G network

* low security and reliability of electric power services carried on public network

* incapable of collecting electric consumption information, costly manual meter reading

NO.117 In the IMT2020 vision, which of the following is correct ratio of 5G service delay to the 4G service delay?
* 1/50

* 1/10

* 1/100

* 1/20

NO.118 Which of the following 5G chipsets does not support 5G mode?
* SC- Balong 5000

* Exynos 5110

* X55

* X50

NO.119 WHICH OF THE FOLOLOWING ARE THE KEY FACTORY FOR OPERATORS TO SELECT NSA OR SA
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NETWORKING?-MC

* Inventory network devices
* Return on Investment

* Terminas

* Technology maturity

NO.120 Which view is wrong about the challenges of network construction and responses to 5G wireless side site changes?
(single-choice question, 10 points)

* Millimeter waves are used in hotspot areas, and small stations are densely distributed, requiring precise site selection

* 5G adopts C-band and Massive MIMO, which has wider and better coverage and can greatly reduce the number of base stations
* Eliminate old pole stations to get enough stations

* The number of stationsisincreased by 1-10 times, the tower TCO is high, and the maintenance is more complicated

NO.121 Higher-order QAM modulation requires higher signal-to-noise ratio and higher system complexity, so the modulation order
cannot be increased indefinitely. (True or False, 2 points)

* True

* False

NO.122 VR vertigo is mainly caused by which of the following factors? (single-choice question, 2 points)
* Rate

* Delay

* Number of connections

* Glasses Weight

NO.123 Which of the following companies the claimed that it will no longer develop 5G terminal baseband chipsets? SC
* QUALCOMM

* Huawel

* intel

* Samsung
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